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1. In commemoration of 150th birth anniversary
of Mahatma Gandhi, ‘National Salt
Satyagraha Memorial’ has been constructed at—

(a) Ahmedabad (b) Sabarmati
(c) Dandi (d) Champaran

2. Which country has recently approved the
issuance of ‘ Panda Bond’

(a) Pakistan (b) Nepal
(c) Bangladesh (d) Myanmar

3. Which of the following is incorrectly matched ?
Organisation
(a) World Bank

Report
— World Development

Report

(b) International - World Economic
Monetary Fund outlook

(c) UNDP - World Happiness

Report

(d) Un-Habitat — World Cities Report.
4. ‘RE-Invest 2018, a global platform to explore
strategies for development of ______________ is
organised by ..__._________

Choose the correct option.

(@) Renewables; Ministry of New and
Renewable Energy.

(b) Organic Farming; Ministry of Agriculture.

(c) Manufacturing Technology; Ministry of
Commerce.

(d) Natural Gas; Ministry of Petroleum and
Natural Gas.

5. Which of the following statements about ‘Coffee
Krishi Tharanga' are correct ?

l. It is a digital mobile extension services
for coffee stakeholders.

Il. It aims to provide customised
information and services to increase
productivity, profitability and environ-
mental sustainability.
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ll. NABARD has partly funded the pilot
project

Answer Code :—

(a) Only I and I

(b) All I, I -and 1lI

(c) Only Il and 11l

(d) None of the above.

6. Which of the following is true about ‘Project

Sashakt' ?

(a) Itis about strengthening India’s land and
maritime borders.

(b) It ensures the modernisation of Military
equipments.

(c) It seeks to address the bad loans
problem in India’s banking sector.

(d) It aims to reduce farmers suicide by
developing their capabilities

7. Consider the Following statement about

scheme IMPRESS.

I : It aims to promots Social Science
Research.

Il : The Council of Scientific and Industrial
Research (CSIR) will be the project
implementing agency.

Correct Statement is / are —
(a) Only |

(b) Only I

(c) None of the above

(d) Both are correct.

8. With respect to reorganisation of state, note

the following statements.

I The bill is introduced in State Legislative
Assembly by prior recommendation of
Governor.

Il. The bill is passed through special
majority process as mentioned under
Article 368 of the Constitution.
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9.

10.

The correct statement is / are —
(a) Only |

(b) Only 1l

(c) Both | and I

(d) None of the above.

Who heads the Joint Session of the Loksabha
and Rajyasabha in the absence of Speaker ?

(a) Deputy Speaker of Loksabha

(b) The Chairman of Rajyasabha

(c) The President of India

(d) The Minister of Parliamentary Affairs.

Supreme Court of India tenders advice to
the President of India on a matter of law or
fact—

(@) On its own initiative
(b) If the President seeks such advice

(c) Only if the matter relates to the
Fundamental Rights of Citizens

(d) Only if the issue poses a threat to the
unity and integrity of the country.

11. The financial emergency is proclaimed by the

President on which of the following ground ?

l.  To meet the extraordinary expenses of
conducting the government business.

Il. On the basis of CAG Report. The
Council of Ministers recommends to do
S0.

lll. If President feels that there is threat to
the financial stability.

Choose correct opﬁons -
(@) Only I and I

(b) All of the above

(c) Only I

(d) Only Il and III.

(@) Faa |
(b) HaA 1l
© 1 3R N
(d) A A |

. AIEEHT IeAE B auRerdt § aeew aikk

NISIEH & AgF 9 Bl Igd B B
g2

(a) SHHUT & IqTeaey
(b) XTSITYT & areyey

() RA & gyl
(d) 9 "o & oA

10. WRA T Waled ARMAT FHHA T4 & AR

H 9RG & Iy B e da Sqr 2o
(@ 3T UEd W |
(b) IR Irgufy Y o oar T

(© AR AHA ArRP & Mo afert
A Hafd 21

(d) IR AWA U P UFHar AR arESar
Bl @R YgAEr ¥

1. Irgufa gR1 o<l smuraerar @) giwon

Frefafed & @ fbg omR ' @ ot & 2

l. WOR AT & GaraT & IGRRT
gdl B R® A F g |

I &1 RoE & R ® #fHuRye O
A B Ry axdt ¥

. afe Irsgufy &) oren & @ i Rear
& forg @awr ¥ |

el fadey--

(@) ®aat | 3R

(b) SWIad |ft

(c) Pad Il

(d) daa 11 AR



12. Which of the following statements are

correct ?

l. If a MLA is elected to be a MP, his seat
in Parliament becomes vacant if he does
not resign his seat in the state legislature
within 14 days.

Il. If a person is elected to two seats in a
house, he should exercise his option
for one otherwise both seate become
vacant.

Answer Code —
(a) Only |

(b) Ony Il

(c) Both Correct
(d) Both incorrect.

13. Consider the following statements about the

Attorney General of India. Incorrect statement
is -

(a) The Attorney General is the highest Law
Officer of the country.

(b) The Attorney General can be removed
by the President on the same grounds
and in the same manner as Judge of
the Supreme Court.

(c) The remuneration of the Attorney
General is not fixed by the Constitution.

(d) The Attorney General is not a full time
Counsel for the government.

14. Which of the following are correctly matched ?

State Tribal Areas
l.  Assam - The Karbi Anglong
District.
. Meghalaya - The North Cachar Hills
District
. Mizoram — The Chakma District

Answer Code —
(a) Only |

(b) I'and 11l

(c) lland 1lI
(d)Alll, 1l and 11I
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15. Find the incorrect statement about CBI

(Central Bureau of Investigation).

(a) The motto of CBI is Service, Security
and Brotherhood.

(b) CBI Investigates cases of corruption,
bribery and misconduct of central
government employees.

(c) It coordinates the activities of anti-
corruption agencies and various state
police forces.

(d) It maintains crime statistics and
dissiminates criminal information.

16. Which of the following features of Indian

Constitution are borrowed from the
Government of India Act, 1935 ?

I Federal Scheme
Il. Federation with strong centre
lll. Emergency provision

IV. Suspension of Fundamental Rights
during Emergency.

Answer Code —

(a) I, llandlll
(b) landll
(c) WandIV
(d) landlll

17. Which statement is incorrect about Jammu

and Kashmir ?

(@) The Fifth and Sixth Schedule do not
apply to the state.

(b) The President has no power to declare
a Financial Emergency in relation to the
State. :

(c) The writ jurisdiction of Jammu and
Kashmir High Court is similar to that of
the other state High Courts.

(d) The President has no power to suspend
the Constitution of the state on the
ground that of failure to comply with the
direction given by him.
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18. Match the following — 18.

Harappan Site Famous for
I. Chanhudaro A. Craft production
Il. Lothal B. Dockyard
lll. Mohenjodaro C. Great Bath
IV. Kalibangan D. Fire altars
Answer Codes —
I | ] v
(a) A B Cc D
(b) C B A D
(c) D B C A
(d) B A D C

19. The 'Saptanga Theory' state was 19.

promulgated by-
(a) Kautilya

(b) Manu

(c) Vishakhadatta
(d) Vyas

20. In ancient India, * Gahapati * is— 20.

(a) Another name for Lord Ganesha
(b) Head of the household

(c) Home Minister of Magadhan state.
(d) Chief of army of Gupta Kingdom.

21. Which of the following pairs are correctly 99

matched.

Movement Associated Leader
l. Wahabi Movement Shah Walliullah
Il. Ahmadiya Movement Hazi Shariat Allah
lll. Faraizi Movement - Mirza Ghulam

Ahmed.

Answer Code —
(a) All of the above

(b) Tandlll
(c) ltandlil
(d) Only I
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22.

23.

24.

25.

26.

‘ Treaty of Gandamak ' is related to— 22.

(a) Anglo-Maratha War
(b) Anglo—Sikh War
(c) Anglo-Afgan War
(d) Carnatic War

The Carnatic Wars were faught between— 23.

(a) Marathas and Nizam

(b) Marathas and Tipu Sultan
(c) British and Tipu Sultan
(d) British and French

In which of the following sessions of Indian 24.

National Congress, it was declared that the
goal of INC is self-government or Swaraj like
the United Kingdom or the Colonies ?

(a) Calcutta Session, 1906
(b) Bombay Session, 1885
(c) Nagpur Session, 1920
(d) Lahore Session, 1930

Which of the following Component was not 25

there in Jinnah's Fourteen Points Formula ?

(a) One third Muslim representation in
Central Legislature.

(b) Separate electorate
(c) Provincial autonomy

(d) Residual powers to central government.

In which of the following agreement it was 26.

decided that an equal number of persons to
be nominated by Congress and League in
the interim government at centre and 20 per
cent reserve seats for minorities ?

(a) Rajaji Plan

(b) Wavell Plan

(c) Desai-Liagat Pact
(d) 3rd June Pact.
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27. According to World Bank’s ‘Ease of Doing
Business Report-2019’, which of the following
statement is correct.

(a)
(b)

India improves rank by 27 positions.

India is the first BRICS and South Asian
Country to be recognised as top impro-
vers in consecutive years.

(c)

India has improved its rank in 8 out of
10 indicators.

(d)

Singapore has claimed the top position
in list.

28. In India which Committee gave

recommendation for implementation of the
Concept of ‘Universal Banking’ ?

(a) Y. H. Malegam Committee
(b) Narsimham Committee
(c) R. H. Khan Committee
(d) Y. V. Reddy Committee

29. Identify the correct statement regarding

functions of money.

L. It acts as a medium of exchange.

Il. It acts as a convenient unit of account.
ll. 1t acts as a store of valve.

Answer Code —

(@) landll only

(b) 1land Iil only

(c) All are correct

(d) 1only.

30. Find the incorrect formula.

(a)

Gross primary deficit = Gross fiscal
deficit — Net interest liabilities.

(b) Gross fiscal deficit = Total expenditure
- (Revenue receipts + Non-debt

creating capital receipts).

Effective Revenue deficit = Revenue
expenditure — Revenue receipts.

(c)

(d) Budget deficit = Total expenditure — Total

receipts.
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31.

32.

33.

In Baiance of Payments, which of following
form part of ‘Trade in Services’ ?

l. Factor Income-Compensation of
employees and Net Investment Income.

. Non-factor income—Shipping, Banking,
Insurance, Tourism, Software services
etc.

Answer Code —

(a) lonly
(b) Il only
(c) None

(d) Both are correct.

The incorrect statement about the various
goods is—

(@) Goods like food and clothing and
services like recreation that are
consumed when purchased by their
ultimate consumers are called

consumer goods.

(b) Consumer goods are the crucial
backbone of any production, process in
aiding and enabling the production to

take place.

(c) Capital goods are of durable character
which are used in the production

process like tools, machinery.

The stock of Capital goods that an
economy possesses is preserved,
maintained and renewed partially or
wholly over time.

(d)

The value of Acceleration due to Gravity—
(a) Is least at the Pole of the Earth.
(b) Decreases from Pole to Equator.
()

(d)

Is same at Equator and Poles.

Increases from Pole to Equator.

The deficiency of vitamin ‘A’ causes—
(a) Hairfall

(b) Rickets

(c) Night blindness

(d)

Anaemia

31.
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33.
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35.

36.

37.

38,

39.

(@)
(b)
(c)
(d)

The colourless phenolphthalein becomes
in acid.

Colourless
Red
Yellow

(@)
(b)
(c)

(d) Blue

Sickle cell anaemia is caused by~
(a)
(b)
(c)
(d)

Viruses
Vitamin Deficiency
Genetic Mutation

Bacteria.

The correct descending order of carbon
percentage in different types of Coal is—

(a) Anthracite — Bituminous — Lignite — Peat
(b) Bituminous — Anthracites — Peat — Lignite
(c) Peat - Lignite — Bituminous — Anthracite
(d) Bituminous — Anthracites — Lignite — Peat.

The Shola forest of the Nilgiris are type of-
(a)
(b)
(c)
(d)

Match the following.

Temperate forest

Tropical Deciduous forest
Dry Deciduous forest
Littoral forest.

List-| (Pass)
() Khardung La (i) Banihal
(i) Zoji La (iv) Photu La

List-Il (Mountain Range)
(1) Great Himalayas
(3) Ladakh

Answer Code -

@i (ii)

(2) Zaskar
(4) Pir Panjal

(i) (iv)

2 1 3 4
3 4 1 2
4 2 3 1
2 4 1 3
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37.

38.

39.
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40. Arrange the following rivers in descending

41.

42.

order of their catchment area.
I Indus (India)
Il. Brahmaputra (India)

. Krishna

V. Godavari

Answer Code —

(a) I I [ v
(b) I I vV i
(c) ] I | N
(d) I vV ] I

Which of the following is correct with respect
to the pattern of wind direction in cyclones
and anti-cyclones.

(a)

In Northern hemisphere, cyclones are
clockwise.

(b)

In Northern hemisphere, anti-cyclones
are clockwise.

(c)

In Southern hermisphere, cyclones are
anti-clockwise.

(d)

In Southern hermisphere, anti-cyclones
are clockwise.

Consider the following statements—
. Matching of Continents (Jig-Saw-Fit)

ll. Rocks of same age and type across
the Oceans.

ll. Rich placer deposits of gold in the Ghana
coast and the absolute absence of
source rock in the region.

All the above statements are in support of
the following theory—

(a)
(b)
(c)
(d)

Continental Drift Theory
Plate Tectonics -Theory
Convectional Current Theory
Nebular Hypothesis

40.

41.

42.
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43. Which of the following factors influence

45.

46.

temperature of a place ?
I The latitude
Il. The Coriolis Force
lll.  Distance from the sea
IV. Air-mass and Ocean currents
Identify the correct statements.
(@ I, Iland Ill only
(b) 11, llland IV only
(c) All are correct

(d) [, 1lland IV only

Consider the following statements regarding
Nitrogen Cycle.

. Certain species of soil bacteria and blue
green algae are capable of utilising
Nitrogen directly in its gaseous form.

Il. Nitrogen can also be fixed in the
atmosphere by lightening and cosmic
radiation.

Identify the correct statements.
(a)
(b)

(c) Both are correct

| only
Il only

(d) None of the above

In the ecological sense, ______________ is the
totality of the physical and chemical factors
that constitute the general environment.

(a) Habitat
(b) Biome
(c)
(d)

Ecology
Niche

Which of the following is not critically
Endangered Species in India ?

(@) Namdapha Flying Squirrel
(b) Hawksbill Turtle

(c) Siberian Crane

(d) Bengal Tiger

43. Fr=faRaa erRe! 4 o9 e sve ¥ amae

44.

45,

46.
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47. Which of the following is not India's 47.
INDC (Intended Nationally Determined
Contribition) ?

(a) Reduction in the emissions intensity of
its GDP by 33 to 35 per cent by 2030
from 2015 level.

(b) To create an additional Carbon Sink of
2.5 to 3 billion tonnes of Co, equivalent.

(c) To install 40 per cent of total electricity
capacity from non-fossil fuelbased
energy sources.

(d) To phase out the production substance
that are responsible for Ozone depletion.

48. Match the following. 48.

Environmental Act Year
l. Forest Conservation Act A. 1972
Il. Wildlife Protection Act B. 1986

lll.  Environmental C. 1974
Conservation Act

IV.  Water Pollution Act D. 1980

Answer Code —

I I [ vV
(a) D A B C
(b) A B C D
(c) C D B A
(d) D B C A

49. Who among the following is popularly known 49.
as “ The Forest Man” of India.

(a) Sunderlal Bahuguna

(b) G. D.Agrawal

(c) Jadhav Payeng

(d) Prakash Amte

50. Bannerghatta Biological Park is located in 50.
the State of-

(a) Karnataka

(b) Chhattisgarh

(c) Odisha

(d) Telangana

5 3k ok ok ok K
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